



COMMERCIAL INVOICE

FEIN: 26-0568581

Shipper :

KAYS INTL INC.

5300 Claus Road, Suite # 8 Modesto, CA 95357, USA

Tel: 1-209-996-4094

e-mail: info@kaysintl.com

Consignee:

Abdulla Abdul Mughni & Partners Company W.L.L.

Shuwaikh – Ghazali Street, 3rd Industrial Area, P.O. box:686 Safat

13007 Kuwait

Tel.: (00965) 24810901/24814665/

24834602,

Fax: (00965) 24836247

Bill to: Same as consignee

Terms : FOB - Advance Wire Transfer

Mode of Transport: AIR

AWB#

PO # TO-25-72 / TO-25-84

INVOICE#: 25174-187-07

DATE: September 2, 2025

Net Weight : 54.20 LBS

Gross Weight: 56.20 LBS

No of Pagakges : 2 Box

Currency of sale: USD Total pages: 4

SI NO	DESCRIPTION	PART	QTY	UOM	UNIT PRICE \$	TOTAL \$
1	Flap Sanding Wheel with Shank, for Smooth Finish, 120 Grit, 2" Diameter, 1-1/2" Wide Box# 1	4734A584	5	EACH	15.62	78.12
2	Clog-Resistant Arbor-Mount Sanding Disc for SS & Hard Mtls, Long-Life, Thrded, 5" Dia, 80 Grit	46725A85	12	EACH	7.01	84.10
3	Clog-Resistant Arbor-Mount Sanding Disc for SS & Hard Mtls, Long-Life, Thrded, 7" Dia, 80 Grit	46725A86	12	EACH	8.92	106.99
4	Flap Sanding Wheel with Shank for Rough Finish, 80 Grit, 5/8" Diameter, 3/4" Wide	3393A539	5	EACH	17.86	89.28
5	Angled Flap Sanding Disc, Long-Life, Unthreaded Arbor Hole, for Rough Finish, 5" Diameter 60 Grit	4644A125	12	EACH	8.56	102.67
6	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. W188, 120 SMOOTH BLUE	4522A222	1	PACK OF 5	16.76	16.76
7	Flap Sanding Wheel with Shank, for Smooth Finish, 120 Grit, 5/8" Diameter, 3/4" Wide	4734A618	12	EACH	8.56	102.72
8	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. A15 , 120	4522A278	1	PACK OF 5	18.35	18.35

	SMOOTH BLUE					
9	Long-Life Angle Grinder Wheel—Use on Metals, Unthreaded 3/8" Arbor Hole, 4" Diameter, 1/4" Thick	44435A61	12	EACH	8.69	104.26
10	Flap Sanding Wheel with Shank, for Smooth Finish, 120 Grit, 3/4" Diameter, 3/4" Wide	4734A622	12	EACH	8.63	103.54
11	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. A5, 120 (smooth blue)	4522A258	1	PACK OF	18.89	18.89
12	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. A36, 120 (smooth blue)	4522A265	1	PACK OF	18.89	18.89
13	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. A41SS, 120 (smooth blue)	4522A266	1	PACK OF 5	20.65	20.65
14	Cool-Sanding Flap Sanding Disc Flat with Unthreaded Arbor Hole, 7" Diameter, 40 Grit	4481A343	3	EACH	22.20	66.60
15	Flap Sanding Wheel with Shank, for Smooth Finish, 120 Grit, 1-1/2" Diameter, 1" Wide	4734A672	12	EACH	10.96	131.47
16	Grinding Bit for Metals, 1/4" Shank Diameter, Shape No. A43SS, 120 (smooth blue)	4522A267	1	PACK OF	24.18	24.18
17	Shank Adapter for 4 Flap Bundles Flap Wheel for Internal Sanding	8240A41	12	EACH	13.76	165.17
18	High-Speed Steel Bur, 1/4" Shank Diameter, 3/8" Diameter x 3/8" Long Head, Ball	4238A138	10	EACH	10.31	103.08
19	High-Speed Steel Bur, 1/8" Shank Diameter, 1/4" Head Diameter, Flame	4238A163	12	EACH	9.40	112.75
20	High-Speed Steel Bur, 1/4" Shank Diameter, 3/8" Diameter x 1" Long Head, Flat Cylinder	4238A125	10	EACH	11.69	116.88
21	Flap Wheel for Internal Sanding for Rough Finish and 1" to 1-1/2" Workpiece ID , GRIT : 80 grits	8240A73	10	EACH	20.14	201.36
22	Flap Wheel for Internal Sanding for Smooth Finish and 1" to 1-1/2" Workpiece ID , GRIT : 120 grits	8240A74	10	EACH	20.14	201.36
23	Flap Sanding Wheel with Shank for Rough Finish, 80 Grit, 3/4" Diameter, 3/4" Wide	3393A545	12	EACH	18.18	218.16
24	High-Speed Steel Bur, 1/8" Shank Diameter, 5/8" Head Diameter, Rounded-Edge Thin Disc	4238A167	10	EACH	15.49	154.92

	<u></u>				T	
25	High-Speed Steel Bur, 1/8" Shank Diameter, 5/8" Head Diameter, Flat- Edge Thin Disc	4238A168	10	EACH	15.49	154.92
26	High-Speed Steel Bur, 1/4" Shank Diameter, 1/2" Diameter x 1-1/8" Long Head, Round Tree	4238A173	10	EACH	15.60	156.00
27	Flap Sanding Wheel with Shank for Rough Finish, 80 Grit, 1-1/2" Diameter, 1" Wide	3393A555	12	EACH	23.64	283.68
28	1/4" Shank-Mount Light Cleaning Brush, 1-1/2" Diameter with 0.01" Diameter Stainless Steel Bristles	7077A33	12	EACH	26.02	312.19
29	1/4" Shank-Mount Light Cleaning Brush, 2" Diameter with 0.01" Diameter Stainless Steel Bristles	7077A37	12	EACH	26.30	315.65
30	Cool-Sanding Flap Sanding Disc Flat with Unthreaded Arbor Hole, 5" Diameter, 60 Grit	4481A342	12	EACH	13.67	164.02
31	1/4" Shank-Mount Light Cleaning Brush, 1-1/4" Diameter with 0.006" Diameter Stainless Steel Bristles	7077A31	12	EACH	28.32	339.84
32	Flap Sanding Wheel with Shank for Rough Finish, 80 Grit, 2" Diameter, 1- 1/2" Wide	3393A558	12	EACH	32.16	385.92
33	High-Speed Steel Bur, 1/4" Shank Diameter, 1-3/4" Head Length, Round Tapered Cone	4238A187	12	EACH	21.30	255.60
34	Brush with Shank for Flat Surfaces, 2- 1/2" Brush Diameter with 0.010" Diameter Stainless Steel Bristles	4887A24	10	EACH	65.88	658.80
35	Brush with Shank for Flat Surfaces, 2" Brush Diameter with 0.008" Diameter Stainless Steel Bristles	4887A21	12	EACH	61.70	740.45
36	Brush for Flat Surfaces, 4" Brush Diameter with 0.014" Diameter Stainless Steel Bristles Box# 1	4872A13	12	EACH	78.46	941.47
37	Stainless Steel Wheel Brush 5/8" Diameter with 1-1/2" Long Shank Box# 2	4916A25	12	EACH	\$5.50	\$66.00
38	Stainless Steel Wheel Brush, 3/4" Diameter with 1-1/2" Long Shank P/N: 4916A16 Box# 2	4916A16	12	EACH	\$6.60	\$79.20
39	Grinding Bit for Metals 1/4" Shank Diameter, Shape No. A35 120 Smooth Blue. Box# 2	4522A271	5	EACH	\$12.50	\$62.50
40	Clog-Resistant Arbor-Mount Sanding Disc for Stainless Steel and Hard Metals, Long-Life, Threaded Hole, 4-1/2" Diameter 80 Grit Box# 2	46725A84	12	EACH	\$4.45	\$53.40

All items HS Code 8202.39.00.00.00

Total 2 Boxes

Total Weight: 56.20 LBS

Box# 1 54.00 LBS 16x16x16 Inches

Box # 2 2.20 LBS 12x8x5 Inches

Please Note: These commodities, technology, or software were exported from the United States in accordance with the Export Administration Regulations. Diversion contrary to U.S. law prohibited.

Authorized Signature:	SUB TOTAL DISCOUNT (10%)	: \$7,331.10 : - \$707.00
Name: Kurien Idiculla	Total Invoice Value :	\$ 6,624.10